Climate Change — a farmers
perspective, can we adapt or do
we need to transform

By
Peter Holding
Mixed cropping and sheep farmer, Harden NSW



Climate change is very much like a bush fire —
To be effective and minimise damage, firefighters need to act quickly and decisively
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Change in average farm vyield (FY) of rainfed wheat in Australia

over the period 1852-2012 showing major drivers of change (curves
hand fitted)
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Adaptation generally involves a change of something In
response to something else, i.e., either in reaction or in
anticipation of new conditions.

From <https://cchange.no/2014/01/adaptation-vs-
transformation/>

Transformation, in contrast, involves a
change from something iInto something that is physically or
qualitatively different.

From <https://cchange.no/2014/01/adaptation-vs-
transformation/>
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This is a graphic of GHG emissions by industry sector in Australia
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Growth in Australian greenhouse gas emissions since 1990 by sector
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This is permafrost tundra melting and falling into the sea.
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The ChOICG is yours



